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TNPSC GROUP I MAIN – 2023 

SIMPLE INTEREST TEST 
 

gphpT – m 
SECTION – A 

 
Fwpg;G:  
 

i. xt;nthU tpdhtpw;Fk; 150 nrhw;fSf;F kpfhky; tpilaspf;fTk;.  
Answer not exceeding 150 words each 

ii. xt;nthU tpdhtpw;Fk; gj;J kjpg;ngz;fs;. 
Each question carries ten marks. 

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F 
tpdhf;fSf;F kl;Lk; tpilaspf;fTk;  
Answer any four questions out of five questions. 

(4 × 10 = 40) 
 

1. Answer the following questions: 
gpd;tUk; tpdhf;fSf;F tpilasp: 
 
A. Kumar borrowed Rs. 400 from his friend at the rate of 12% per 

annum for 2 ½ years. Find the interest and amount paid by him.  
             (5m) 
Fkhh; &.400 ia jd; ez;ghplkpUe;J 2 ½ tUlq;fSf;F 12% Mz;L 
tl;bapy; fldha; ngWfpd;whh;. mth; nrYj;jpa tl;bj;njhifiaAk; 
nkhj;j njhifiaAk; fhz;f.  

 
B. A sum of money amount to Rs. 5200 in 5 years and to Rs. 5680 in 7 

years at simple interest. Find the rate of interest per annum.  
            (5m) 
xU njhif jdptl;bapy; 5 tUlq;fspy; &.5200 MfTk; 7 
tUlq;fspy; &.5680 MfTk; cah;fpd;wJ. Mz;L tl;b tPjk; fhz;f. 

 
2. Answer the following questions: 
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gpd;tUk; tpdhf;fSf;F tpilasp: 
 
A. A sum of Rs. 1600 gives a simple interest of Rs. 252 in 2 years and 4 

months.  Find the rate of interest per annum.    (5m) 
&. 1600 vDk; njhif 2 tUlk; 4 khjq;fspy; &. 252 I jdp 
tl;bahf nfhLf;fpd;wJ. Mz;L tl;b tPjk; fhz;f. 
 

B. Find the simple interest on Rs. 1000 for 6 months at the rate of 5 
paise per rupee per month.        (5m)  
xU khjj;jpw;F xU &gha;f;F 5 igrh vDk; tl;b tpfpjj;jpy; &. 
1000> 6 khjj;jpy; nfhLf;Fk; jdp tl;bj;njhifia fhz;f. 

  
3. Answer the following questions: 

gpd;tUk; tpdhf;fSf;F tpilasp: 
 
A. What principal will amount to Rs. 900 in 6 years at 10% simple 

interest?                 (5m) 

ve;j mryhdJ 10% jdptl;bapy; 6 tUlq;fspy; &. 900 Mf 
caUk;.  

 
B. Find the time in which ₹ 2,000 will amount to ₹ 2,330 at 11% p.a.  

             (5m) 
vj;jid Mz;Lfs; 11% Mz;L tl;bapy; &.2000> &.2330 Mf 
caUk;? 

 
4. Answer the following questions: 

gpd;tUk; tpdhf;fSf;F tpilasp: 
 

A. In how many years will a sum of money double itself at 8% p.a.   
             (4m) 
vj;jid Mz;Lfspy; xU Fwpg;gpl;l njhif 8% Mz;L tl;bapy; 
,ul;bg;ghFk;? 
 

B. In how many years will ₹ 870 amount to ₹ 1,044, the rate of interest 
being 2 ½% p.a.?          (4m) 
2 ½% Mz;L tl;b tPjk;> vj;jid Mz;Lfspy; &.870> &.1044 Mf 
caUk;?  
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C. Find the rate percent, if the S.I. on ₹ 275 in 2 years is ₹ 22.   (2m) 
&.275> 2 tUlj;jpy; nfhLj;j jdptl;bj;njhif &.22 vdpy; tl;b 
tPjk; fhz;f?  

 
5. Answer the following questions 

gpd;tUk; tpdhf;fSf;F tpilasp: 
A. In 4 years, ₹ 6,000 amounts to ₹ 8,000. In how many years will ₹ 525 

amount to ₹ 700 at the same rate?      (5m) 
&. 6000 4 tUlq;fspy; &. 8000 Mf cah;fpd;wJ. mNj tl;b 
tPjj;jpy; vj;jid Mz;Lfspy; &.525> &. 700 Mf caUk;? 
 

B. A sum of ₹ 1,780 becomes ₹ 2,136 in 4 years. Find:   (5m) 
(i) The rate of interest. 
(ii) The sum that will become ₹ 810 in 7 years at the same rate of 

interest. 
&.1780 4 tUlq;fspy; &. 2136 Mfpd;wJ. gpd;tUtdtw;iw 
fz;lwpf. 
(i) tl;b tPjk; 
(ii) ve;j njhif mNj tl;b tPjj;jpy; 7 tUlq;fspy; &.810 MFk;. 

 
 

gphpT – M 
SECTION – B 

 
Fwpg;G :  

i. xt;nthU tpdhtpw;Fk; 250 nrhw;fSf;F kpfhky; tpilaspf;fTk;.  
Answer not exceeding 250 words each. 

ii. xt;nthU tpdhtpw;Fk; gjpide;J kjpg;ngz;fs;  
Each question carries fifteen marks.  

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F 
tpdhf;fSf;F kl;Lk; tpilaspf;fTk;.  
Answer any four questions out of five questions. 

     

(4 × 15 = 60)  
 
6. Answer the following questions:  

gpd;tUk; tpdhf;fSf;F tpilasp: 
      

A. Kumar borrowed Rs. 52000 from a money lender at a particular rate 
of simple interest. After 4 years, he paid Rs. 79040 to settle his dept. 
At what rate of interest he borrowed the money?   (6m)  
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Fkhh; xU tl;bf;filf;fhudplkpUe;J xU Fwpg;gpl;l jdp tl;b 
tPjj;jpy; 4 tUlq;fSf;F &. 52>000 j;ij fldha; ngWfpd;whh;. mth; 
&. 79040 ia nrYj;jp mth; flid milf;fpd;whh;. ve;j tl;b 
tPjj;jpy; mth; flidg; ngw;whh;.? 

 
B. The simple interest accrued on a certain principal in 5 years at the 

rate of 12 % p.a is Rs.1536.  What amount of simple interest would 
one get if one invests Rs.1000 more than the previous principal for 
2 years and at the same rate % p.a?      (6m) 
xU njhif 12% Mz;L tl;bapy; 5 tUlj;jpy; nfhLj;j 
tl;bj;njhif &. 1536. mNj tl;b tPjj;jpy; Ke;ija mriy tpl 
&.1000 mjpfk; KjyPL nra;jhy; 2 tUlj;jpy; fpilf;Fk; 
tl;bj;njhif fhz;f? 

 
C. Reena obtained an amount of Rs. 8376 as simple interest on a certain 

amount at 8% p.a. after 6 years.  What is the amount invested by 
Reena?            (3 m) 
hPdh xU njhifapy; 8% Mz;L tl;bapy; 6 tUlq;fspy; &.8376 -
ia jdp tl;bahf ngWfpd;whs;. hPdh KjyPL nra;j njhifia 
fhz;f? 

 
7. Answer the following questions: 

gpd;tUk; tpdhf;fSf;F tpilasp: 
 
A. Find simple interest on Rs. 7300 from 15 may 2009 to 8th October 

2009 at 10 % p.a.         (6 m) 

10% Mz;L tl;bapy; 15 Nk 2009 ypUe;J 8 mf;Nlhgh; 2009 tiu 
&.7300 nfhLf;Fk; jdptl;b njhif fhz;f? 

 
B. Determine the principal which will amount to Rs. 15,000 is 4 years 

at 8% p.a.           (5m) 
ve;j njhif 4 tUlq;fspy; 8% Mz;L tl;bapy; &.15,000 Mf 
caUk;? 

 
C. In how many years will a sum of money double itself at 18.75% 

p.a. simple Interest.         (4m) 
vj;jid Mz;Lfspy; 18.75 % jdptl;bapy; xU njhif 
,ul;bg;ghFk;? 
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8. Answer the following questions; 
gpd;tUk; tpdhf;fSf;F tpilasp: 
 

A. Kumar borrowed some money at the rate of 6% p.a. for the first two 
years, at the rate of 9% p.a. for the reset 3 years and at the rate of 14% 
p.a. for the period beyond five years. If he pays of total interest of Rs. 
11,400 at the end of 9 years, how much money did he borrow.    (7m) 
Fkhh; vd;gth; xU njhifia Kjy; ,uz;L tUlq;fSf;F 6% Mz;L 
tl;bapYk;> mLj;j 3 tUlq;fSf;F 9% Mz;L tl;bapYk;> 5 tUlk; 
Nky; cs;s fhyq;fSf;F 14% Mz;L tl;bapYk; fldha; ngWfpd;whh;. 
mth; 9 tUlq;fs; ,Wjpapy; &.11>400-I nkhj;j tl;bj;njhifahf 
nrYj;Jfpd;whh;. mth; fldha; ngw;w njhifia fhz;f. 
 

B. A farmer borrowed Rs. 2400 at 12% interest per annum. At the end of 
2 ½ years, he cleared his account by paying Rs. 1200 and a cow. Find 
the cost of cow.          (8m) 
xU tptrhap 12% Mz;L tl;bapy; &.2400ia fldha;  ngWfpd;whh;. 
2 ½ tUl ,Wjpapy; mth; &.1200 Ak; xU gRitAk; nfhLj;J flid 
milf;fpd;whh;. gRtpd; tpiyiaf; fhz;f. 
 

9. Answer the following questions: 
gpd;tUk; tpdhf;fSf;F tpilasp: 
 

A. Ram lent Rs. 1200 to Kumar for 5 years and Rs. 1500 to Mohan for 2 
years and received altogether Rs. 900 as interest. Find the rate per 
annum.            (6m) 
uhk; &.1200 ia 5 tUlq;fSf;F FkhUf;F fldha; toq;fpdhh; kw;Wk; 
&. 1500ia 2 tUlq;fSf;F Nkhfdplk; fldha; toq;fpdhh;. mth; 
ngw;w nkhj;j tl;bj;njhif &.900 Mz;L tl;b tPjk; fhz;f?  
            

B. What sum of money lent out at 5% for 3 years will produce the same 
interest as ₹ 900 lent out at 4% for 5 years?     (6m)  
ve;j njhiff;F 3 tUlq;fspy; 5% tl;bapy; nfhLf;Fk; 
jdptl;bj;njhif> &.900> 5 tUlq;fspy; 4% tl;bapy; nfhLf;Fk; 
jdptl;bj; njhiff;F xd;whf ,Uf;Fk;?       
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C. A sum of money lent out at simple interest amounts to Rs. 720 after 2 
years and to Rs. 1020 after a further period of 5 years.  Find the sum.      
             (3m) 
xU njhif jdp tl;bapy; fldha; toq;fg;gl;ljpy; 2 tUlq;fspy; 
&.720 MfTk;> NkYk; 5 tUlq;fspy; &. 1020 MfTk; cah;fpd;wJ. 
mj;njhifia fhz;f. 

 
10. Answer the following questions: 

gpd;tUk; tpdhf;fSf;F tpilasp: 
 
A. Rs. 6000 becomes Rs. 7200 in 4 years at a certain rate of simple 

interest. If the rate becomes 1.5 times of itself, the amount of the 
same principal in 5 years ?        (7.5 m) 
xU Fwpg;gpl;l tl;b tPjj;jpy; &.6000> 4 tUlq;fspy; &.7200 Mf 
cah;fpd;wJ. tl;b tPjk; 1.5 klq;fhdhy; mNj njhif 5 tUlj;jpy; 
vd;dthf caUk;?  

            
B. Sujitha invested Rs. 7500 at simple interest @ 11 p.c.p.a. She further 

invested some amount at simple interest @ 15 p.c.p.a. Total interest 
earned at the end of the year became 12 p.c.p.a. Find the amount 
invested at the rate of 15 p.c.p.a.       (7.5 m) 
R[pjh 11% Mz;L jdptl;bapy; &. 7500 ia KjyPL nra;fpd;wdh;. 
mts; NkYk; xU njhifia 15% Mz;L jdptl;bapy; KjyPL 
nra;fpd;whs;. mts; tUl ,Wjpapy; ngw;w nkhj;j Mz;L tl;bapd; 
tPjk; 12% vdpy;> 15% Mz;L tl;bapy; KjyPL nra;j njhifia 
fhz;f. 

 
 

 


